
P3: Integer exponent and scientific notation 

1. The expression (଴.଴଴଴଴ଶ)(଺.ଽ×ଵ଴ఴ)

ଶଷ
 in scientific notation, is equal to 

 

A) 6 × 10ଶ 

B) 6 × 10 

C) 3 × 10ଶ 

D) 2 × 10ଶ 

E) 6 × 10ିଶ 

 

 

 

 

2. If (ଵଶ଼଴଴)(ଶ×ଵ଴ల)

଴.଴଴଺ସ
= 𝑚 × 10௡, then 𝑚 + 𝑛 = 

 

A) 16 

B) 13 

C) 15 

D) 14 

E) 12 

  



3. If 𝑀 = −2ିଶ ⋅ (−4)଴ and 𝑁 = −
ଶ

ହ
÷ 1.6, then the distance between 

𝑀 and 𝑁 is equal to 

 

A) 0 

B) ଵ
ସ
 

C) ଵ
ଶ
 

D) − ଼ସ

ଶହ
 

E) − ଵ

ଶ
  

 

 

 

4.  If 𝑥 ≠ 0, 𝑦 ≠ 0, and ଷ
(௫ర௬షభ)షభ(ିଶ௫షమ)షమ

(ଶషభ௬షమ)మ
= 𝑘𝑥௔𝑦௕, then 𝑘 + 𝑎 + 𝑏 = 

 

A) 8 

B) ଵ଺

ଷ
 

C) -43 

D) 0 

E) − ଷ

ଵ଺
 

  



5. The decimal notation of the expression 
(ଵ.଺×ଵ଴య)൫ହ.ଵ×ଵ଴షఱ൯

ସ.଼×ଵ଴మ
, is 

 

A) 0.00017 

B) 0.000017 

C) 0.0014 

D) 140000 

E) 0.0017 

 

 

 

 

6. Let 𝐴 = 0.0018, 𝐵 = 400000, and 𝐶 = 0.0002. If ஺஻

஼
 is written in 

scientific notation, then ஺஻

஼
= 

 

A) 3.6 × 10଺ 

B) 36 × 10ହ 

C) 3600000 

D) 1.8 × 10଺ 

E) 18 × 10ହ  

  



7.  If 
(ଷ௫షమ௬షయ)షమ

ଶ଻௫௬
=

௫೘௬೙

ଷೖ
, then 𝑛 + 𝑚 + 𝑘 = 

 

A) 13 

B) 6 

C) 3 

D) 5 

E) 11 

 

 

 

 

8. The number (−2ିଶ + 3ିଵ)ିଵ is equal to 

 

A) 12 

B) -12 

C) 5 

D) -5 

E) ଵଶ

଻
 

 

  



9. The number 
(଺.ଽ×ଵ଴మవ)(଻.ହ×ଵ଴షభర)

଴.଴ଶଷ×ଵ଴భల
 written in scientific notation is given 

by 

 

A) 2.25 × 10ଶ 

B) 22.25 × 10଺ 

C) 2.25 × 10ିଶ 

D) 0.225 × 10ସ 

E) 2.25 × 10ିହ  

 

 

 

 

 

 

10.  If ቀ ௫య೙௬మ೙

௫షమ೙௬య೙శభቁ = 𝑥஺௡ା஻𝑦஼௡ା஽, then 𝐴 + 𝐵 + 𝐷 = 

 

A) 4 

B) 2 

C) -4 

D) -3 

E) 7 

 

 

  



11. If 2௫ିଵ = 𝑦, then 2ଷ௫ିଶ = 

 

A) 2𝑦ଷ 

B) 4𝑦ଷ 

C) 𝑦ଷ/8 

D) 𝑦ଷ/4 

E) 𝑦ଷ/2 

 

 

 

 

12. If 𝑝 ≠ 0, then which one of the following statements is FALSE 

 

A) −3𝑝଴ = −1 

B) 3𝑝଴ = 3 

C) (−3𝑝)଴ = 1 

D) −(3𝑝଴) = −3 

  



13. If 𝑝 = 3 and 𝑞 = 2, then the value of ௣షభା௤షభ

ଵି(௣௤)షభ
= 

 

A) 1 

B) ହ
଻
 

C) ଶହ

ଷ଺
 

D) − ଵ

଺
 

E) -1  

 

 

14.    
(ିଶ௫య)మ(௫௬)షయ

(ଷ௫షఱ௬మ)షమ
=  

 

A)  ଷ଺௬

௫ళ
 

B) ଷ଺௫

௬ళ
 

C) ସ௬

ଽ௫
 

D) − ଽ௬

ସ௫
 

E) 36𝑥𝑦 

  



15. If (ଶଵ଴଴଴଴)(ସ×ଵ଴షభమ)

଴.଴଴଴଴ଶ଼
= 𝑚 × 10௡  (in scientific notation), then 𝑚 + n = 

 

A) -2 

B) 1 

 

 

 

 

 

 

16. Let 𝐴 = 0.0000021, 𝐵 = 200000, and 𝐶 = 8.4 × 10ି௡. If ஺஻

஼
=

5 × 10ଷ, then 𝑛 = 

 

A) 5 

 

 

  



17. If ଴.଻×ଵ଴షఱ

(ିଵ.ସ×ଵ଴షల)(ିଵ଴଴ )
= 𝐴 × 10஻ is written in scientific notation, 

                 then 𝐴 + 𝐵 = 

 

A) 2 

 

 

 

 

 

19. In scientific notation, the number (ଵ଺଴଴଴)(ସ.ହ×ଵ଴షర)

଴.଴ସ଼
= 

 

A) 15 × 10ଶ 

B) 1.5 × 10ଷ 

C) 1.5 × 10ଶ 

D) 1.5 × 10ିଶ 

E) 15 × 10ିଶ 

  



20. (1.3 × 10ିଵଷ) + (12 × 10ିଵସ) = 

 

A) 2.5 × 10ିଵଷ 

B) 25 × 10ିଵ  

C) 3.5 × 10ିଵ  

D) 13.3 × 10ିଶ  

E) 2.5 × 10ିଶ଻ 

 

 

 

 

 


